agree_on_common*?2

agree_on_common(T';as;bs)
=40 Case of as
nil — True
a.as’, rec: — Case of bs
nil — True
b.bs’, rec: — —(a € bs) & agree_on_common(T;as’;bs)
V =(b € as) & agree_on_common(T;as;bs’)
V a = b & agree_on_common(7’;as’;bs’)
(recursive)

clarification:

agree_on_common(T’;as;bs)
=4ef Case of as
nil — True
a.as’, rec: — Case of bs
nil — True
b.bs', rec: — —(a € bs € T') & agree_on_common(T;as’;bs)
V =(b € as € T) & agree_on_common(T;as;bs’)
Va=>beT & agree_on_common(T;as’;bs’)
(recursive)
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